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Ques 1. ANS (A) Solution:

JORY

Ques 2. ANS (C) Solution:
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Ques 3. ANS (B) Solution: $dd dd | HoISd @ |
Ques 4. ANS (D) Solution: Had | Tg! g

Ques 5. ANS (D) Solution:
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Ques 6. ANS (A ) A) Solution:
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Ques 7. ANS (B) Solution:
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Ques 8. ANS (B) Solution:
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Ques 9. ANS (C) Solution:

Ques 10. ANS (C) Solution:
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Ques 11. ANS (D) Solution:

! 9+6—5+3
1584
@
547-2+6
12-8=4

34 TR,
9+1-3+5

10-8

Ques 12. ANS (A) Solution:

31&R ST BT HH fAHad 2|

Teg OASIS T UZaT 31&R O g

T NOISE H GERT 31&R O &

eg DRONE H TIRT 18R O g

Usg ALLOT | =T 31RO B

3 AT eg AUDIO T UHET 31&R O BRI
Ques 13. ANS (B) Solution:
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Ques 14. ANS (C) Solution:
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Ques 15. ANS (A) Solution:
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Ques 16. ANS (D) Solution: oI UHR lﬂq% Wﬁﬂ?ﬁﬂ
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Ques 17. ANS (B) Solution:
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Ques 18. ANS (B) Solution: e ‘BIS, ?m-slsc 3R P g

HIYY & AEG g Said bRl ol HIYY &I AEG g 3(d: fadeu
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Ques 19. ANS (A) Solution:
OHTA=1,B=2C=3D=4.2=26

RUN = R— 18, U—21, N—14 —182114

S UHR, BIN > B — 2,1 — 9, N> 14 — 2914

T UHR ¥, BRING — B— 2, R—18, 1> 9, N— 14,
G—7—2189147 —

letA=1B=2C3D=4.Z=26

RUN = R—18, U—21, N— 14— 182114

Similarly, BIN — B— 2, 1— 9, N— 14— 2914

Similarly, BRING - B — 2, R— 18,1 9, N— 14,G— 7 —
2189147

Ques 20. ANS (D) Solution: Hdd dd || Hogd & |

Ques 21. ANS (C) Solution:
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Ques 22. ANS (D) Solution:
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197 & 3099 =30 R+

| gog & 319 = 31RT

| 3T | 15 o = 15 R

T =202 =

m:ﬁwﬁ?=3§3=ﬂﬂ=6

=~ 15 3T 1980 F RA = 9faR + 6 = AR

Ques 23. ANS (A) Solution:
IR 3T 9 &1 IHT
=230+ 0.10 = 2.40 §9
o9 59 g 91 8§ ST g5y
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Ques 24. ANS (A) Solution:
UHTIR I & U &1 999
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Ques 25. ANS (D) Solution:
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Ques 26. ANS (C) Solution:
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Ques 27. ANS (B) Solution:
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Ques 28. ANS (A) Solution: ST J®R CaifdoH ¥ CaipRe
forar o1 €, I UepR T | ugR fhar S B
Ques 29. ANS (A) Solution:

ZaS

Ques 30. ANS (C) Solution:

Ques 31. ANS (B) Solution: Razmnama is an abridged
translation of the Mahabharata written in Persian at the
behest of the Mughal Emperor Akbar and dates to around
1598-99. Razmnama is noted for its elaborate and exquisite
illustrations.

Ques 32. ANS (B) Solution: The All India Home Rule League
was a national political organization founded in 1916 to lead
the national demand for self-government, termed Home
Rule, and to obtain the status of a Dominion within the
British Empire. Between 1916 and 1918, when the war was
closing, prominent Indians like Joseph Baptista, Bal
Gangadhar Tilak, G. S. Khaparde, Sir S. Subramania lyer and
the leader of the Theosophical Society, Annie Besant decided
to organize a national alliance of leagues across India,
specifically to demand Home Rule, or self-government within
the British Empire for all of India. Tilak founded the first
League in the city of Pune, Maharashtra.

Ques 33. ANS (B) Solution: Raja Ravi Varma is related to
painting. He was an Indian painter from the princely state of
Travancore. His paintings are considered to be among the
best example of the fusion of Indian traditions with the
techniques of European academic art.

Ques 34. ANS (A) Solution: Giddha is a popular folk dance
of women in the Punjab region of India and Pakistan. The
dance is often considered derived from the ancient dance
known as the ring dance.

Ques 35. ANS (A) Solution: The Supreme Court of India is
the highest judicial forum and final court of appeal as
established by Part V, Chapter IV of the Constitution of India.
According to the Constitution of India, the role of the
Supreme Court is that of a federal court and guardian of the
Constitution.

Ques 36. ANS (C) Solution: Part Ill - Fundamental Rights' is a
charter of rights contained in the Constitution of India. It
guarantees civil liberties such that all Indians can lead their
lives in peace and harmony as citizens of India. These include
individual rights common to most liberal democracies, such
as equality before law, freedom of speech and expression,




and peaceful assembly, freedom to practice religion, and the
right to constitutional remedies for the protection of civil
rights by means of writs such as Haber corpus.

Ques 37. ANS (C) Solution: The period during which the
House meets to conduct its business is called a session. The
Constitution empowers the President to summon each
House at such intervals that there should not be more than 6
month'’s gap between the two sessions. Hence the Parliament
must meet at least twice a year.

Ques 38. ANS (B) Solution: The Finance Commission of India
is established under Article 280 of the Indian Constitution by
the President of India to define the financial relations
between the center and the state. It is responsible for the
distribution of net proceeds of taxes between the Centre and
the States, to be divided as per their respective contributions
to the taxes.

Ques 39. ANS (C) Solution: Article 40 directs the State to
take steps to organize village Panchayats and endow them
with such powers and authority as may be necessary to
enable them to function as units of self-Government. It
comes under the Directive Principles of State Policy.

Ques 40. ANS (D) Solution: The equator receives equal day
and night throughout the year because it does not tilt in
relation to the sun's location. Because of the tilted axis of the
Earth, the poles and locations away from the equator lean
towards or away from the sun as an orbit is completed, while
the equator stays in essentially the same location relative to
the sun.

Ques 41. ANS (C) Solution: The interior of the Earth beneath
the lithosphere, including both the mantle and the core, is
known as barysphere. However, it is sometimes used to refer
only to the core or only to the mantle.

Ques 42. ANS (B) Solution: Alluvial soils are fertile soils
composed of sediments deposited by rivers and the waves.
However, they are usually deficient in nitrogen and humus.
Nitrogen deficiency is the main limiting factor in crop
production in all the alluvial soils except the calcareous and
saline-alkali alluvial soils. With suitable irrigation, fertilizers
and proper agricultural practices, alluvial soils are generally
very fertile.

Ques 43. ANS (B) Solution: Energy enters an ecosystem by
being used to convert low-energy carbon dioxide into high-
energy carbohydrate, then passes through one or more of
the organisms of the community, and is then lost to the
ecosystem. Eventually, all of the energy that enters the
ecosystem is lost in the form of heat.

Ques 44. ANS (C) Solution: The Himalayas and, the Western
Ghats are known for the rich biodiversity they support.
Several species of epidemic plants and animals are found in
these zones. After Africa, the Indian peninsula has the richest
diversity of life forms on the face of the Earth.

Ques 45. ANS (B) Solution: HERIM a5 o1 &1 Rreraft &I
WA T B HAST THT BT SHTAISH 643 3. T ol Y & R
foam T |

Ques 46. ANS (B) Solution: Inventory refers to raw materials,
work-in-process goods and completely finished goods that
are considered to be the portion of a business's assets that
are ready or will be ready for sale. Inventory represents one
of the most important assets that most businesses possess

because the turnover of inventory represents one of the
primary sources of revenue generation and subsequent
earnings for the company's shareholders/owners.

Ques 47. ANS (B) Solution: In terms of individual income
and wealth, a regressive tax imposes a greater burden on the
poor than on the rich. There is an inverse relationship
between the tax rate and the taxpayer's ability to pay, as
measured by assets, consumption, or income. These taxes
tend to reduce the tax burden of the well-to-do, as they shift
the burden disproportionately to the needy.

Ques 48. ANS (B) Solution: Since mercury is 13+ times as
dense as water, a given volume of mercury would carry about
4.4 times as much heat, so mercury is the best conductor of
heat among the given options. It is the only metal that is
liquid at standard conditions for temperature and pressure.
Mercury has one of the narrowest ranges of its liquid state of
any metal. Mercury is used in thermometers, barometers,
manometers, sphygmomanometers, float valves, mercury
switches, It is used in lighting: electricity passed through
mercury vapor in a fluorescent lamp produces shortwave
ultraviolet light which then causes the phosphor in the tube
to fluoresce, making visible light.

Ques 49. ANS (A) Solution: Sublimation apparatus is a piece
of laboratory glassware used in the technique of sublimation
usually used by chemists to purify compounds. Typically a
solid is placed in a vessel which is then heated under
vacuum. Under this reduced pressure the solid volatilizes and
condenses as a purified compound on a cooled surface,
leaving the non-volatile residue impurities behind. This
cooled surface often takes the form of a cold finger. Once
heating ceases and the vacuum is released, the sublimed
compound can be collected from the cooled surface. Impure
camphor is purified by this process.

Ques 50. ANS (B) Solution: The greenhouse effect is a
process by which thermal radiation from a planetary surface
is absorbed by atmospheric greenhouse gases, and is re-
radiated in all directions. Since part of this re-radiation is
back towards the surface and the lower atmosphere, it results
in an elevation of the average surface temperature above
what it would be in the absence of the gases. By their
percentage contribution to the greenhouse effect on Earth
the four major gases are: water vapor, 36-70%, carbon
dioxide, 9-26%, methane, 4-9% and ozone, 3-7%.

Ques 51. ANS (C) Solution: fay TAT fGaw gfaad 11 Bradt
@ T ST 8, 3 A RNl §b1H SroTHd WH &1 5
YIS F SR TR T o1l 8| 3 U AT fa=wg o1 gAmt
feag & SR W 72 el Sy HATerd gRT AT Siwfy IR
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Ques 52. ANS (D) Solution:

YR Yed = [IRIETo =10 Yad ®H &1 88 yatazor 4ot &
Miepa F ag W Yera W it faar 31 fa—maroay
e WA A B8 gaiaRr A0 § 100 H ¥ 82 3id gk fohu |
Indian Railways has declared Visakhapatnam Railway Station
as 'Green Railway Station' after assessment in six
environmental categories. Visakhapatnam Railway Station
scored 82 out of 100 in six environmental categories.

Ques 53. ANS (B) Solution:

e SalaeD TS US SIUIC SfSxefdh (BEST) 7 13
HRaR! $I 4as H YRd $I Ugdll soifacd ardrdpierd (@)




TIA-STR 99 DI IgdIe [haT| $H §9 & HoRl e & 9lg,
Ig S99 Hi a9 {30 IR Fig1-Fal Hrciad & s Ferh|
Brihanmumbai Electric Supply and Transport Undertaking
(BEST) inaugurated India's first electric air-conditioned (AC)
double-decker bus in Mumbai on 13 February. After the
approval of this bus, this bus will ply between Kurla Bus
Depot and Bandra-Kurla Complex.

Ques 54. ANS (B) Solution:

YR Menfiet TR (17) foeeh, Soiifrafar ot ugrs & fou
ST & Y 50 TR BT G H =M B T 5| SIHRA
TRHEH (UH) $1 3R ¥ e gHaRIC! I 918 geolde
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Indian Institute of Technology (IIT) Delhi has joined the list of
top 50 institutes in the world for engineering studies. The
'World University Rankings by Subject 2023' has been
released by Quacquarelli Symonds (QS). IIT Bombay has
jumped 25 places to rank 92nd in the world's top 100 in
mathematics.

Ques 55. ANS (A) Solution:

Sfearmre 7 Uigy Mad &I It TR it fAgad faear
2. 3feurPRe U Al-WehH e Tie ANeguyH gfed
HUA 5. 3T 20 A F AP & BRI H, Tl 4 ©R T,
g 18, TSI 3R S Aeaad ot yw Hifgar sufval &
T BT 5T . TV18 3IR Viacom18 & Tgad W arelt
PR (IndiaCast) SRS fSgH, wode Jarsi ot
Afor & B A B,

IndiaCast has appointed Piyush Goyal as Chief Operating
Officer. Indiacast is a multi-platform content asset
monetization entity company. In his career spanning over 20
years, Goyal has worked with leading media companies such
as Star TV, Network18, NDTV and DEN Networks. IndiaCast,
jointly owned by TV18 and Viacom18, operates in categories
such as domestic distribution, placement services.

Ques 56. ANS (A) Solution: Dadabhai Naoroji, known as the
Grand Old Man of India, was a Parsi intellectual, educator,
cotton trader, and an early Indian political and social leader.
His book Poverty and Un-British Rule in India brought
attention to the draining of India's wealth into Britain. He was
a Member of Parliament (MP) in the United Kingdom House
of Commons between 1892 and 1895, and the first Asian to
be a British MP. He is also credited with the founding of the
Indian National Congress, along with A.O. Hume and
Dinshaw Edulji Wacha.

Ques 57. ANS (A) Solution: A stupa is a mound-like or semi-
hemispherical structure containing Buddhist relics, typically
the ashes of Buddhist monks, used by Buddhists as a place of
meditation. As most characteristically seen at Sanchi in the
Great Stupa (2nd-1st century B.C.), the monument consists of
a circular base supporting a massive solid dome from which
projects an umbrella.

Ques 58. ANS (C) Solution: Right to personal liberty is the
bedrock of any democratic set up. In India, the right to life
and personal liberty is available to all people and so is the
right to freedom of religion. Time and again, the Supreme
Court has reiterated that the word liberty is a very
comprehensive word.

Ques 59. ANS (D) Solution: Gujarat, in the northwestern
region of India, has the longest coastline, covering more than

1,600 km. It accounts for 22% of total coastline of the
country. Mots coast is bordered by the Arabian Sea and the
Gulfs of Khambat and Kachchh. Its coastline nurtures a
diversity of habitats, especially mangroves, salt marshes, coral
reefs, wetlands, and sea grasses.

Ques 60. ANS (A) Solution: The First Amendment of the
Constitution of India was enacted in 1951. It made several
changes to the Fundamental Rights provisions of the
constitution. It provided against abuse of freedom of speech
and expression, validation of zamindari abolition laws, etc.
Ques 61. ANS (B) Solution: Concave lens possesses at least
one surface that curves inwards. It is a diverging lens,
spreading out those light rays that have been refracted
through it. A concave lens is thinner at its centre than at its
edges, and is used to correct short-sightedness (myopia).
After light rays have passed through the lens, they appear to
come from a point called the principal focus. The image
formed by a concave lens is virtual, upright, and smaller than
the object, and it cannot be projected onto a screen.

Ques 62. ANS (A) Solution: A greenhouse gas (sometimes
abbreviated GHG) is a gas in an atmosphere that absorbs and
emits radiation within the thermal infrared range. The
primary greenhouse gases in the Earth's atmosphere are
water vapour, carbon dioxide, methane, nitrogenous, and
ozone.

Ques 63. ANS (C) Solution:

In order to give more strength and more elasticity, natural
rubber is heated with sulphur or sulphur compounds at
1500C temperature. Vulcanized rubber has good tensile
strength.

Ques 64. ANS (B) Solution:

& HAT ey Rig 7 7S faeedl 7 v €fgan 2023 & forg
TSHSI & TAHS GHITH B S P | UG BIUHH &l
JedTe fAHIT, & HATCRT ERT SMTAMSd fobar T T

Defense Minister Rajnath Singh chaired the Ambassadors’
Round Table Conference for 'Aero India 2023' in New Delhi.
The event was organized by the Department of Defense
Production, Ministry of Defence.

Ques 65. ANS (B) Solution:

25 SaX 2023 B 75 fecel H UG 3o01 Wb SIAWR THE
TSI fama 7T | IHe & SR, gl R § YR &
fefored Tmm &I e 9 ¥ TR & YR FA &
TRI! SIR e W =4l B TS|

The first India Stack Developer Conference was organized on
25 January 2023 in New Delhi. During the conclave, ways and
means to ensure wider adoption of India's digital goods
across the world were discussed.

Ques 66. ANS (B) Solution:

DR B UM A& (Padma Lakshmi) T BT UGt giToiex
TBIA I TS, IB AU B SR BRI &A1Y TP dbiel b
0 ¥ A 51 8. 36T 96T TRIST 3R 81RT W TS At
¥ for =oma gffda s .

Padma Lakshmi from Kerala became the first transgender
lawyer in the state, she has enrolled as an advocate with the
Bar Council of the state. His goal is to ensure justice for the
poor and marginalised.

Ques 67. ANS (B) Solution:

TSI A d P I DRE B AT ARG H Bierad
BIBITE-SITHT T ifd REBR & Frifd fabar . thferer




BIPIC-SIT Mifd REBR F 8 = 2015 & AT GRT 30
S &I IROMAIAT & fog e & aret Fofa § gvifad g3 |
Angela Merkel was awarded the Felix Houfouet-Bogni
UNESCO Peace Prize in Yamoussoukro, the capital of Ivory
Coast. The jury for the Felix Houphouet-Boigny Peace Prize
was impressed by Merkel's courageous decision in 2015 to
open her country to refugees.

Ques 68. ANS (D) Solution:

TR 25 AT B AARIPHT 3o = F1 G 711 SI1eft §. T8
WY % U4 b Y He @Il § | U8 Ugel! §R 1993 H o
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International Day of the Unborn Child is celebrated every 25
March. It coincides with the Feast of the Annunciation. It was
first celebrated in 1993 in El Salvador to celebrate the right to
be born. This special day honors the unborn children who
died as a result of the horrors of abortion. This happened
during the reign of Pope John Paul Il. According to the Pope,
the day represents "a positive choice in favor of life".

Ques 69. ANS (D) Solution:

TG Y ATl RBR A T B g WA S5t BT P 1Y
T WRATY Soll a1 B BT Squred fbar g1 38 afaor gd
TR Y H Hul B HH DI G B & g uaTy] Al
IR H3 3 A § TP HeH & U H @A W@ 3

The military-led government has inaugurated a nuclear
energy information center with Russia's state nuclear power
company. It is being seen as a step towards developing
nuclear power to meet the energy shortage in the Southeast
Asian nation.

Ques 70. ANS (B) Solution:

TS BB BT 2023 BT T REBR 31 T 81 3% T8
REGR T & AR TiRfad $eE 3R H-a8e! Ulead
I A 14T 1Y FTa o for far mam g1 71ord & 39 e
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9 &g faar mar .

Lewis Caffarelli has been awarded the 2023 Abel Prize. He
has been given this award for his contribution to the
mathematics of nonlinear partial equations and free-
boundary problems. This most prestigious award in
mathematics is considered equivalent to the Nobel Prize. For
the first time this award was given to Jean Pierre in 2003 for
modernizing many parts of mathematics.

Ques 71. ANS (A) Solution:

— (693)° —(383)°
(693)* +693x 383 +(383)°

(@’ -b*)
i (a® +ab+b* )
=(a—-b)=(693-383)=310.
Ques 72. ANS (B) Solution:

, W&l a = 693 991 b = 383

e 1T = 64 Vrifo, 80 Wifto, 96 Vo T HoTo
=(8x2x2x2x5 x3)qdo =960 Hrte

= 9,60 H2T.
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8,10, 12

4,5,6
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Ques 73. ANS (D) Solution:

[(35)° +70x12] + 25 =58 -8x x

:(35)3x35x]_x12xl=58-8xx
70 25

ol

. _35x35x6 _
~ 25x58-8
Ques 74. ANS (D) Solution:
11 8 13
T AAD = — + — + —
A 17371
13 12 99
4 78713 104

Ques 75. ANS (C) Solution:
0.00000841 & qUIfch 841 T €T, ForepT avivged 29 &1
b GRIAT & 8 VI § 3(d: T H GIHAT & 4 R 5|

+/0.00000841= 0.0029
Ques 76. ANS (B) Solution:
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Ques 77. ANS (A) Solution:

TS hitih TH T3 T 3 = 93

UiAa ST = 93 + 1 + 94

I IS AT = 94 + 6 = 100

Ques 78. ANS (A) Solution:
o e g = 1 74
(x 1 60°%) + 40 = (x =1 80%)
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=2 XX
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LV
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Ques 79. ANS (C) Solution:
T AT 9831 = x. 99

2 g
XE W =204 S =204
B 5 10
= x=| :0"‘$‘=680_
it T&T = 630. s -

Ques 80. ANS (C) Solution:

fOar auT Gt Bt 3T HT AT = (34 X 2) T

AMT 4 T I1G S0 3G HHRT: 14x T qUT 5x T
14x-4+5x-4=68=>1%=76=>x=4

TR I I 3G = (5X 4 -4) T4 = 16 Y
Ques 81. ANS (D) Solution:




T TR &1 I 3R = 8x T AT TS BT I 31 =
15x aY

. 8r+9
9 J4 9I1E ! 1Y BT UM =

152+ 9

8x+9 11
"Trs9 E:—144J:J~165I— 162 — 99
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TP 3T T 3R = (15 - 8x) T = 7x TV = (7 X 3) T = 2199

Ques 82. ANS (A) Solution:
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Ques 83. ANS (D) Solution:
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Ques 84. ANS (C) Solution:

X g&m = x 9, @
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—
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Ques 85. ANS (C) Solution:

= 138 Ty
Ques 86. ANS (C) Solution:

A W AT = XTI
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XX3 _
100
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=
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Ques 87. ANS (D) Solution:

A o g FHU e x B
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12
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Ques 88. ANS (B) Solution:

A. B, Ciﬁ‘jﬁ!ﬂﬂugma -l_:_l.;_a(,o,(_ 60!
"HT A, B, C %9 91: X120, X115, tlzaéqmanr&l
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. T847 F A W W
Ques 89. ANS (C) Solution:
480 %o ﬁﬁmﬁwam:asnx%ﬁmu

"=3+44+5=12

Ques 90. ANS (B) Solution:

=600:800:1000=3:4

60!—-"0 15:12
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By =8

A ABD ﬁ,
AB? = AD? + BD?
A ADC ff,
AC? = AD? + CD?
- AB2+ CD? L
= AD? + BD? + AC2 - AD?
= AC? + BD?
Ques 91. ANS (D) Solution:
AB = BC = k,
AC= ok
AB? + BC? = k? + k? = 2k? = AC?
- AABC & |9 FaizaTg 9+ €
Ques 92. ANS (D) Solution:

A—>12 days~_ 3

> 36 (total work)
B—>18 days.” 2
(A+B) work together for 2 days
= (83 +2) x 2 =10 units
Remaining work = 36 - 10

=26 units.
time taken by B to finish the

remaining work =%

= 13 days.
Ques 93. ANS (A) Solution:
(Tota‘l‘ capacity)
efficiency—> 5, 4
hours — 8 10
(A (B)

(A+B)'s one hour filling (A + B)
= 9 unit

(A+B)'s 4 hour filling (A+B)

= 9x4 = 36 units

36

Part of tank filled = 2
40

Ques 94. ANS (C) Solution:
Ax5x2 _ Bx5x3 Cx5x4
100 100 100

= Ax2=Bx3=Cx4

Acmioolil 1 12x1 1201,
T3 2 T 3 7 4

A, B, C % 7 fraw of¥rd # srqum =6:4:3
Ques 95. ANS (A) Solution:

¥ET 3 A & Y S W = 6%, AR S AN & forg ;W W = 9%
w3l & g = =W = 13% (A% T wF = 11 3)

15 %100 8160 x 100
LR TR AR = T " B 6) + (9x5) + (13%3)

8160x100 _ 8160x100
T 18+45+439 102

Ques 96. ANS (C) Solution:

Area of the tank (¥% &1 &%et)
= length x breadth
=180 x 120 = 21600 m?
Total area of the circular plot
(FTFR TFH F A SAF)
= 40000 + 21600=61600 m?
area of circle (F8 F1 &%)
=61600
n (radius)? = 61600
61600 x 7

22

radius = /2800 x 7
= J7x 7 x 400

=7 x 20 = 140m
Ques 97. ANS (C) Solution:
A1 )
sinl35+cos120 _¥2 2 "3 a1 2 21
1 1 =

n35-cosl20” L T 1™ 2 Yael el

=T 8000

(radius)? =

o)

-

J2 2

S G2-n2-n_W2-17 2.
G2+n2-n 2R -1

Ques 98. ANS (C) Solution:
2sin? @+ 3cos’ 0 = 2sin’ 0 +3(1-sin’ &) = 25in’+3-3sin’@ =3-sin" @
sin’@ 1 SfeEE 7 1 W W
v, e = AW =3 1=1
Ques 99. ANS (B) Solution:

.

=01, .5

(%]

1
Area of A CGE = E A ABC

x 36 = 6 sq.cm

Q| =

Ques 100. ANS (B) Solution:
- AABC= A DEF

D
F

213
EF 4
EF=2.8cm




